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JUnit 2 Java B9—MEZR, FRLISIRAHIBZREIRIRESRS JDK.

B2 Junit - INEIRE | 7

RFEK
JDK 1.5811.5L0 £
SEE3 IRERINER
Ha=sE) IRER/NER
BFRR RERINER

| S84 ZERAOVBREIIE Java 8

WMETHERE, UTLLT java K.

BIERR 15 (R

Windows FIFaSBIES c:>java —version

Linux FIF e S KR $ java —version

Mac FI &R machine:~ joseph$ java —version

BARIE— FATERIERFAY AL :

BERS: Hid
Windows java kA& “1.6.0_217

Java (TM) SE i=1734& ( build 1.6.0_21-b07 )

Java #s3 (TM) ZERHEINL (build 17.0-b17, BE&E&ER, H=)
Linux java fiRA “1.6.0_21"

Java (TM) SE =173 4& ( build 1.6.0_21-b07 )

Java #s2 (TM) ZERIHEIWL (build 17.0-b17, BE&ER, H=E)
Mac java iR “1.6.0_21"

Java (TM) SE #3845 ( build 1.6.0_21-b07)

Java #5 (TM) 64-FTRSSEEIWM (build 17.0-b17, BEE=, #=)

WMRIFRGELRE Java, MNUATRIEZZE http://www.oracle.com/technetwork/java/javase/downloads/ind

ex.html Java SDK., FA13RA Java 1.6.0_21 {EARLFERILEERA .
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| #%2: 88 JAVA TS

i®RE JAVA_HOME INMZZEZE, FZERERNBRME, BIERIIRE L% Java BIUE,

HERE | 8

0S it

Windows WEWET S JAVA_HOME to C:\Program
Files\Java\jdk1.6.0_21

Linux e JAVA_HOME=/usr/local/java—current

Mac e JAVA_HOME=/Library/Java/Home

RFEIRZAIN Java fRiRssuE .

O] it

Windows AERRTEEERim s NIF RS
;C:\Program Files\Java\jdk1.6.0_21\bin

Linux #HE PATH=$PATH:$JAVA_HOME/bin/

Mac R

{EALL RIS Java—version s IGIF Java &2,

I EIE3: T Junit B2

M http:/Awww.junit.org & JUNit SRATMRABELES S . EREXNTHBIENER, RELTET Junit-4.10 ja

rFEXEEHE C:>JUnit SKHEET

oS EES2AN

Windows junit4.10.jar
Linux junit4.10.jar
Mac junit4.10.jar

| #%4: 28 yunit hiz

i®RE JAVA_HOME IMZZE, (FZERERNBRNE, RIEFRIEE L& JUNIT EEHRIVE. R, &

MNELELU T ARERMRIERSR JUNIT SUFEREZFME T junitd.10.jar.

0Ss it

Windows wEWET=E JUNIT_HOME & C:\JUNIT
Linux i JUNIT_HOME=/usr/local/JUNIT
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oS it
Mac Hd JUNIT_HOME=/Library/JUNIT

| $m5: 8® CLASSPATH Zxi

& CLASSPATH g E, #2180 JUNIT EHEXHNE. g, HIIELEUTAEINRIERSH JUNI
T HEEFMET junitd.10.jar o

OS i

Windows REIETZE CLASSPATH 2| %CLASSPATHY;%JUNIT_HOME%\junit4.10.jar;.;
Linux it CLASSPATH=$CLASSPATH:$JUNIT_HOME/junit4.10.jar:.

Mac it CLASSPATH=$CLASSPATH:$JUNIT_HOME/junit4.10.jar:.

| $m®6: Wizt Junit g3z

£ C:\ > JUNIT_WORKSPACE A gl#2— java 34, EFRJ9 Testdunit.

import org.junit. Test;
import static org.junit.Assert.assertEquals;
public class TestJunit {
@Test
public void testAdd() {
String str="Junit is working fine";
assertEquals("Junit is working fine",str);
}
}

£ C:\ > JUNIT_WORKSPACE # & — java 234, g A TestRunner, EHRATNXEA,

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}
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| sm7: wirzs

FF javac fiFRIRBLI T HRES.
CAJUNIT_WORKSPACE>javac TestJunit.java TestRunner.java
a7 Test Runner RELER .
CAJUNIT_WORKSPACE>java TestRunner
S

ture
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| H4= Junit WisiEse?

JUnit 2P EIFUHAESR, I AERTEENNARFINSETIE, NREFRHRERE, FEIRSRIEAIE
£, JUnit MiiEZREER M TTRIA MEERMES

* Eclipse &EpFFEINE
« Ant¥JEBTE

e Maven INE@ESE
Bt

JUnit MIREZR BB LT EEH

Wit TH

ML=

=]

o Widizf7s8

Mz 2E
| mixTE
WX TER—EEEENTEATELNN . WX TERNBNEN THREHEEELZEEENIEFIE

17, ARIENAERNTESE. BE8E:
- EPTENIERIES AR setUp() 751X,
« LS EIEITER tearDown() ik
IEFRNIRE—OIF
import junit.framework.*;

public class JavaTest extends TestCase {
protected int valuel, value?;

/I assigning the values
protected void setUp(){
valuel1=3;



value2=3;

}

/ test method to add two values
public void testAdd(){
double result= value1 + value?;
assertTrue(result == 6);
}
}

| stz

MR EEERIREGE LN = AIHF ERNEIT. £ JUnit 1, @RunWith #1 @Suite ## BBz TIKE
., AT R{ER TestJunit! 0 Testdunit? BOMLEESZE:

import org.junit.runner.RunWith;
import org.junit.runners.Suite;

//JUnit Suite Test

@RunWith(Suite.class)

@Suite.SuiteClasses({
TestJunitl.class ,TestJunit2.class

H

public class JunitTestSuite {

}

import org.junit.Test;

import org.junit.lgnore;

import static org.junit.Assert.assertEquals;

public class TestJunit1 {

String message = "Robert";
MessageUtil messageUtil = new MessageUtil(message);

@Test
public void testPrintMessage() {
System.out.printin("Inside testPrintMessage()");
assertEquals(message, messageUtil.printMessage());
}
}
import org.junit. Test;
import org.junit.lgnore;
import static org.junit.Assert.assertEquals;



public class TestJunit2 {

String message = "Robert";
MessageUtil messageUtil = new MessageUtil(message);

@Test
public void testSalutationMessage() {
System.out.printin("Inside testSalutationMessage()");
message = "Hil" + "Robert";
assertEquals(message,messageUtil.salutationMessage());
}
}

| mistizsTes

Widiz1Tas BT TR LATRENR S EMIZAIER FRIBIF:

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}

System.out.printin(result.wasSuccessful());
}
}

| Junit Witsy 2

M EE ARSI JUnit NEZHDE., JIMESHIDENT:
- BE—EWSHENNLNES
- BEEiETZENA TR

« BEWERTIBAIERNTENMIRER

% 3 & JUnit

MAEZR [ 14
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IERA BN BE R FR—E—EHIRTER Junit.
| elg—1ae

+ #C:\ > JUNIT_WORKSPACE &2 M EIEZ2—1 &8 MessageUtil.java RIZEARMIK o

/*

* This class prints the given message on console.
*/

public class MessageUtil {

private String message;

//Constructor

/l@param message to be printed

public MessageUtil(String message){
this.message = message;

}

// prints the message
public String printMessage(){
System.out.printin(message);
return message;
}
}

I Bl Test Case 2£

BlEE—1Z 9 Testdunit.java AIIEKZE .

a2 iR I02 A testPrintMessage() R9757% .

[75E57 0 Annotaion @Test.

Tt SEFERA Junit BY assertEquals AP Rie&
£C:\ > JUNIT_WORKSPACEREZE T RIEZ— 3 F& R Testdunit.java AIZE
import org.junit.Test;

import static org.junit.Assert.assertEquals;
public class TestJunit {

String message = "Hello World";
MessageUtil messageUtil = new MessageUtil(message);
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@Test
public void testPrintMessage() {
assertEquals(message,messageUtil.printMessage());

}
}

I Bl# Test Runner £

« BJE— TestRunner 2£

 1=F JUnit 89 JUnitCore 2£MY runClasses 7iAKizf7 EIRMIH AT MK Z45)
* JREVTE Result Object FIETTAIMIAZRAIAIZER

« ¥XEY Result Object Y getFailures() FiEFAILKEER

+ ¥KEY Result object B9 wasSuccessful() F5i&xFHIRINEE
£ C:\ > JUNIT_WORKSPACE EE&=ZE T eIE—MXEE A TestRunner.java BIZESRFT ML 24

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}

System.out.printin(result.wasSuccessful());

}
}

F javac #w1F MessageUtil. Test case #1 Test Runner 25,
C:\JUNIT_WORKSPACE>javac MessageUltil.java TestJunit.java TestRunner.java

WEIETT Test Runner, ERJLUZITEFTRHERY Test Case ZEHE XAIMIHZRA,
C:\JUNIT_WORKSPACE>java TestRunner

MEIEITER

17
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Hello World
true

BAESEH C:\ > JUNIT_WORKSPACE &2 ThY TestJunit, FHEGNAK .. BHEFHE.

import org.junit. Test;
import static org.junit.Assert.assertEquals;
public class TestJunit {

String message = "Hello World";
MessageUtil messageUtil = new MessageUtil(message);

@Test
public void testPrintMessage() {
message = "New Word";
assertEquals(message,messageUtil.printMessage());
}
}

IERNMREEMERT, BXEIETHEE Test Runner

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}

WEEITE Test Case EHRHAIENSIZ TN ZEAIRY Test Runner
C:\JUNIT_WORKSPACE>java TestRunner
BTSSR

Hello World
testPrintMessage(TestJunit): expected:<[New Wor]d> but was:<[Hello Worl]d>
false

HEARRZE (18
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| Junit FEyEZR AP

JUnit FRISFEEAIREFRERE junit.framework EEE TERIBERIZZE, —EEBRIZEIIRINT:

Fs ERIEZFR ZAIThEE

1 Assert assert 5iEHIES

2 TestCase —NEXTETZENANEEES

3 TestResult TestResult &£& THATUIHAFFIRIERB AR
4 TestSuite TestSuite MiHIES

I Assert 2

TENERYZ org.junit.Assert 35:

public class Assert extends java.lang.Object

EXPEREE T —FRINREWANIEBRIERGE. REXMAIERGETSHKICE. Assert ERNER5EVIR

W

F= FiEFEA

1 void assertEquals(boolean expected, boolean actual)
HERNTERE S D E

2 void assertFalse(boolean condition)
MEEHZ2EN

3 void assertNotNull(Object object)
MENRAEZTM

4 void assertNull(Object object)
MENRETH

5 void assertTrue(boolean condition)
MEEHIE

6 void fail()

ERBIREIER MEWHAET

TEILEEAFPRUN— T EEREIN—LT5E. &£ C:\> JUNIT_WORKSPACE BRTFeIEZ— & Te

stJunit1.java B9,

import org.junit.Test;
import static org.junit.Assert.*;
public class TestJunit1 {

@Test

public void testAdd() {
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/ltest data

int num= 5;

String temp= null;

String str="Junit is working fine";

/Icheck for equality
assertEquals("Junit is working fine", str);

/Ilcheck for false condition
assertFalse(num > 6);

/lcheck for not null value
assertNotNull(str);

TRk, FA)7E C:\ > JUNIT_WORKSPACE BR T EIE#—1342 79 TestRunnerl.java RIZERAITIRZ
Bl

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner1 {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit1.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}

System.out.printin(result.wasSuccessful());
}
}

H javac #®1¥ Test case #0 Test Runner 3
C:\JUNIT_WORKSPACE>javac TestJunit1.java TestRunneri.java

W1Eiz1T Test Runner BI8IE171E Test Case SRHE X FHRMATNIHAEG
C:\JUNIT_WORKSPACE>java TestRunner1

mEmHER

true



% 5 JUnit - API | 22

I TestCase 3£

TENERIZ org.junit. TestCaset 2£:
public abstract class TestCase extends Assert implements Test
MEABIEN T a7 2EUHEERR . TestCase EKN—LEE AU T :

FS  JEiEMiER

1 int countTestCases()
Ftgrun(TestResult result) HTAGMEE Z=H13H51
2 TestResult createResult()
BIE—NEAIARY TestResult X
3 String getName()
$%HY TestCase RIZFR
4 TestResult run()
—PNEITX LRI A ERNS L, WERTestResult IIRF=4ERIER
5 void run(TestResult result)
£ TestResult FIz1TMi{Z=AIFUELER
6 void setName(String name)
128 TestCase HIZIR
7 void setUp()
CIEEEREE, Hla0, T — P MEEZE
8 void tearDown()
RREERE, a0, XF—MEEE
9 String toString()

REIMAZEAIR— 1 FFERR

BMNEAFPE=R—T ESERRINAE. 7 C:\ > JUNIT_WORKSPACE EB&ZTelE— &~ TestJunit2.java
A9,

import junit.framework.TestCase;

import org.junit.Before;

import org.junit. Test;

public class TestJunit2 extends TestCase {
protected double fValuel;
protected double fValue2;

@Before

public void setUp() {
fValuel= 2.0;
fValue2= 3.0;

}



@Test
public void testAdd() {
/lcount the number of test cases
System.out.printin("No of Test Case = "+ this.countTestCases());

/ltest getName
String name= this.getName();
System.out.printin("Test Case Name ="+ name);

/ltest setName
this.setName("testNewAdd");
String newName= this.getName();
System.out.printin("Updated Test Case Name ="+ newName);
}
/ltearDown used to close the connection or clean up activities
public void tearDown( ) {
}
}

ET3E, £ C:\ > JUNIT_WORKSPACE B2 TelZE— &8 TestRunner2.java BIZERMIT M Z= 41

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner2 {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit2.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}

System.out.printin(result.wasSuccessful());

}
}

H javac #m1¥ Test case #0 Test Runner 3
C:\JUNIT_WORKSPACE>javac TestJunit2.java TestRunner2.java

W1Eiz1T Test Runner Bi8IE1T1E Test Case ZRHE X FHRMATIHAEG,
C:\JUNIT_WORKSPACE>java TestRunner?2

EHHER



No of Test Case =1
Test Case Name = testAdd
Updated Test Case Name = testNewAdd

true

I TestResult 2

THEENXAIZ org.junit. TestResult 2&:

public class TestResult extends Object

]

5
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TestResult KIERBHUTIIHZERAINGR . ERKESHEARN— IO, XPILIERX HEMFIEIR . K
M aT LAY A B el LUBE BIZsk e E . EIRE NI FERYERERE ArrayindexOutOfBoundsExceptio
N. TestResult EXH—LEEHEFIRAT:

F= FiAFOEA

1 void addError(Test test, Throwable t)
EEIRVIFRFINA—DEIR

2 void addFailure(Test test, AssertionFailedError t)
RGN FRFIN— KM

3 void endTest(Test test)
RN RFEANX NS

4 int errorCount()
SREN#EAS N R RV =

5 Enumeration errors()
IR[EIEEIRANFMER

6 int failureCount()
SREN#EAR N B AR AV E E
void run(TestCase test) izfT TestCase
int int runCount()
REETUXEE

9 void startTest(Test test)
EIB— NSRS a

10 void stop()

£ C:\ > JUNIT_WORKSPACE B2 T eliZ— P& TestJunit3.java Y.

PREER S LE

import org.junit. Test;
import junit.framework.AssertionFailedError;
import junit.framework. TestResult;

public class TestJunit3 extends TestResult {



/l add the error
public synchronized void addError(Test test, Throwable t) {
super.addError((junit.framework.Test) test, t);

}

/[ add the failure

public synchronized void addFailure(Test test, AssertionFailedError t) {
super.addFailure((junit.framework. Test) test, t);

}

@Test

public void testAdd() {

/I add any test

}

/I Marks that the test run should stop.
public synchronized void stop() {
/Istop the test here
}

}

ET3E, £ C:\ > JUNIT_WORKSPACE B2 TelZE— &8 TestRunner3d.java RIS T M Z=A1

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner3 {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit3.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}

System.out.printin(result.wasSuccessful());

}
}

H javac #m1¥ Test case #0 Test Runner 3
C:\JUNIT_WORKSPACE>javac TestJunit3.java TestRunner3.java

W1Eiz1T Test Runner Bi8IE1T1E Test Case ZRHE X FHRMATIHAEG,
C:\JUNIT_WORKSPACE>java TestRunner3

EHHER
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true

I TestSuite 2

TEENXAIZ org.junit. TestSuite 2&:

public class TestSuite extends Object implements Test

= JUnit - API | 26

TestSuite ZKEMIXAVERMED . BIBfT T RZAINILZES, TestSuite SEA—LEE S XA T:

FS  JEiEMiER

1 void addTest(Test test)
FEEFIANN .

2 void addTestSuite(Class<? extends TestCase> testClass)
BELLEERERFRINLINEIEF,

3 int countTestCases()
XXM BPEE TAINIE 2= B T 5

4 String getName()
REIERIBFR.

5 void run(TestResult result)
£ TestResult FizfTUIKFH U ELS

6 void setName(String name)
REENEIR.

7 Test testAt(int index)
FELEENERPIRENMNL

8 int testCount()
REIEFNXHE.

9 static Test warning(String message)

REISEMATIHHEICRESER
£ C:\ > JUNIT_WORKSPACE B2 T gIEZ— 179 JunitTestSuite.java R,

import junit.framework.*;
public class JunitTestSuite {
public static void main(String[] a) {
/[ add the test's in the suite
TestSuite suite = new TestSuite(TestJunit1.class, TestJunit2.class, TestJunit3.class );
TestResult result = new TestResult();
suite.run(result);
System.out.printin("Number of test cases =" + result.runCount());
}
}

F javac #®iE Test suit
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C:\JUNIT_WORKSPACE>javac JunitTestSuite.java

MEIETT Test Suit

C:\JUNIT_WORKSPACE>java JunitTestSuite

EHHER

No of Test Case =1

Test Case Name = testAdd

Updated Test Case Name = testNewAdd
Number of test cases = 3
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EXBIREEEEI—MNA POJO 2, Business logic ZEA07E test runner #1789 test 249 JUnit AIH)
Fo

7£ C:\ > JUNIT_WORKSPACE #E&ZETelE— &9 EmployeeDetails.java #9 POJO £,

public class EmployeeDetails {

private String name;
private double monthlySalary;
private int age;

[k

* @return the name

*/

public String getName() {
return name;

}

JrH

* @param name the name to set

*/

public void setName(String name) {
this.name = name;

}
[k
* @return the monthlySalary
*/
public double getMonthlySalary() {
return monthlySalary;
}
[k
* @param monthlySalary the monthlySalary to set
*/
public void setMonthlySalary(double monthlySalary) {
this.monthlySalary = monthlySalary;
}
[k
* @return the age
*/
public int getAge() {
return age;

}

/**

* @param age the age to set
*/

public void setAge(int age) {
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this.age = age;
}
}

EmployeeDetails 4T
« BiSEEREEROMERE
- BSmERERERNEAFHKIE
o BSEERERRFRANE
£ C:\ > JUNIT_WORKSPACE =2 T elIE—1&9 EmpBusinessLogic.java BJ business logic 2&

public class EmpBusinessLogic {
/I Calculate the yearly salary of employee
public double calculateYearlySalary(EmployeeDetails employeeDetails){
double yearlySalary=0;
yearlySalary = employeeDetails.getMonthlySalary() * 12;
return yearlySalary;

}

/I Calculate the appraisal amount of employee
public double calculateAppraisal(EmployeeDetails employeeDetails){
double appraisal=0;
iftemployeeDetails.getMonthlySalary() < 10000){
appraisal = 500;

telse{
appraisal =1000;
}
return appraisal;
}

}
EmpBusinesslLogic Z#AKITE
« BERBENFHTK
« BERINTHEEE
£ C:\ > JUNIT_WORKSPACE B2 T elE—13& TestEmployeeDetails.java BOES#MT AT Z=F12E

import org.junit. Test;
import static org.junit.Assert.assertEquals;

public class TestEmployeeDetails {
EmpBusinesslLogic empBusinesslLogic =new EmpBusinessLogic();



EmployeeDetails employee = new EmployeeDetails();

/ltest to check appraisal
@Test
public void testCalculateAppriasal() {
employee.setName("Rajeev");
employee.setAge(25);
employee.setMonthlySalary(8000);
double appraisal= empBusinesslogic.calculateAppraisal(employee);
assertEquals(500, appraisal, 0.0);

/ test to check yearly salary

@Test

public void testCalculateYearlySalary() {
employee.setName("Rajeev");
employee.setAge(25);
employee.setMonthlySalary(8000);
double salary= empBusinesslogic.calculateYearlySalary(employee);
assertEquals(96000, salary, 0.0);

TestEmployeeDetails 2R3 EmpBusinesslLogic 289755, ©

. MR RAEERFIK
. WA ERATEET

WMAELERAITE C:\ > JUNIT_WORKSPACE 2 N elIEE— 138 TestRunner.java B2 T Z= B2

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestEmployeeDetails.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}

FHjavacy®i% Test case #1 Test Runner 2&
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C:\JUNIT_WORKSPACE>javac EmployeeDetails.java
EmpBusinesslogic.java TestEmployeeDetails.java TestRunner.java

WAEIETRRIBTT Test Case FEAENFRHEATMIRZHIRT Test Runner

C:\JUNIT_WORKSPACE>java TestRunner

KEIBITER

true



/

J
U
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FrERIMrSEFE & 7E Assert 2570

public class Assert extends java.lang.Object

XA KM T REEBTSERRSMRAEE . REXWAIMS

FUZLaN R

Fs

T At
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SICHE . Assert EFRI—LERGE

1

void assertEquals(boolean expected, boolean actual)
HERNZEREELEEF S

void assertTrue(boolean expected, boolean actual)
MBERHIE

void assertFalse(boolean condition)
EZEHR

void assertNotNull(Object object)

MBEWNRAHZT

void assertNull(Object object)

mENR I

void assertSame(boolean condition)

assertSame() HFiERERMEXNRESTEQE— IR

void assertNotSame(boolean condition)

assertNotSame() HiAEER MEXTREEAE[E— IR

void assertArrayEquals(expectedArray, resultArray)
assertArrayEquals() i ERN R SIS

TEEIEAFHIHE— T EEREREMGE. & C:\> JUNIT_WORKSPACE I&E FEIE— I HER Te

stAssertions.java HIZE

import org.junit.Test;
import static org.junit.Assert.*;

public class TestAssertions {

@Test

public void testAssertions() {
/ltest data
String str1 = new String ("abc");
String str2 = new String ("abc");
String str3 = null;
String str4 = "abc";
String str5 = "abc";



int vall = 5;

int val2 = 6;

String[] expectedArray = {"one", "two", "three"};
String[] resultArray = {"one", "two", "three"};

//Check that two objects are equal
assertEquals(stri, str2);

//Check that a condition is true
assertTrue (vall < val2);

//Check that a condition is false
assertFalse(vall > val2);

//Check that an object isn't null
assertNotNull(str1);

//Check that an object is null
assertNull(str3);

//ICheck if two object references point to the same object
assertSame(str4,strb);

//ICheck if two object references not point to the same object
assertNotSame(str1,str3);

//Check whether two arrays are equal to each other.
assertArrayEquals(expectedArray, resultArray);

BTk, FfiE C:\> JUNIT_WORKSPACE &2 T eIEE— 13459 TestRunner.java RIZERA T
il

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner2 {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestAssertions.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}

System.out.printin(result.wasSuccessful());
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}
}

FH javac %%i% Test case # Test Runner 2£
C:\JUNIT_WORKSPACE>javac TestAssertions.java TestRunner.java
MEIETIERIZTT Test Case ZEHENFHRHATNIKXZEAIAY Test Runner
C:\JUNIT_WORKSPACE>java TestRunner

MEETER

true
| e

IR GRAI LR RAOAIS RN B A E P ARITTARES . JUnit FRRTIXESER R R M T
TERERER, BETERSEMRTTERENA, WMEDEESEMEL ERIENA, BLTTRBSERIT
SRR RES o

JUnit RGERAIFIZRIAR AR S X

F

S EERREA

1 @Test
XNERRBBAKHI7E JUnit B9 public void 5iER LUMER— MK Z=A]

2 (@Before
BN EIZ TR EZONE L MBI SR . 7E public void FiEINMZFRRREMZ B EHEE test &R0
=17,

3  @After

WRIRBINEPERIRIE Before HiEH 8L, AMAMRBEEMEITEREREI]. 7 public void JFi&MNiZiE
BRRMZE EHER test HiEREIETT,
4  @BeforeClass
£ public void &Mz R RR ML AR B XTI B L ARIE T .
5 @AfterClass
EEREREEBURERENT. XNAILARRETEEEDN .
6 @lgnore
XN EREERARAIEE X AR EATRIMIKAY .

£ C:\ > JUNIT_WORKSPACE B2 T eIZE— 13 45& 8 JunitAnnotation.java BIZEIRNNEERE
import org.junit.After;

import org.junit.AfterClass;
import org.junit.Before;



import org.junit.BeforeClass;
import org.junit.Ignore;
import org.junit. Test;

public class JunitAnnotation {

/lexecute before class

@BeforeClass

public static void beforeClass() {
System.out.printin("in before class");

}

/lexecute after class

@AfterClass

public static void afterClass() {
System.out.printin("in after class");

}

/lexecute before test

@Before

public void before() {
System.out.printin("in before");

}

/lexecute after test

@After

public void after() {
System.out.printin("in after");

}

/ltest case

@Test

public void test() {
System.out.printin("in test");

}

/ltest case ignore and will not execute
@lgnore
public void ignoreTest() {
System.out.printin("in ignore test");
}
}

BTk, #HAIE C:\ > JUNIT_WORKSPACE EE T EUEZE— 134328 TestRunner.java BIZESRFITIERE



import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(JunitAnnotation.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}

H javac #®1¥ Test case #0 Test Runner 3
C:\JUNIT_WORKSPACE>javac TestAssertions.java TestRunner.java
MEIE T RIETT Test Case ZEHENFHRMATNIRZAIAY Test Runner
C:\JUNIT_WORKSPACE>java TestRunner

KEIRITESR

in before class
in before

in test

in after

in after class
true

% 7 & JUnit
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REE@AT JUnit PRIGERITIZR, BIM—NISEBESWER, B— 1 oixE—"7EEZEBR. LA JU
nit Wit75%RI API, FESRABIFRIZNA.

£BZ C:\ > JUNIT_WORKSPACE gl#E—" java 344538 JunitAnnotation.java kil 2~z .

import org.junit.After;

import org.junit.AfterClass;
import org.junit.Before;
import org.junit.BeforeClass;
import org.junit.Ignore;
import org.junit.Test;

public class ExecutionProcedureJunit {

/lexecute only once, in the starting

@BeforeClass

public static void beforeClass() {
System.out.printin("in before class");

}

/lexecute only once, in the end

@AfterClass

public static void afterClass() {
System.out.printin("in after class");

}

/lexecute for each test, before executing test
@Before
public void before() {

System.out.printin("in before");

}

/lexecute for each test, after executing test
@After
public void after() {

System.out.printin("in after");

}

/ltest case 1

@Test

public void testCase1() {
System.out.printin("in test case 1");

}

/ltest case 2
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@Test
public void testCase2() {
System.out.printin("in test case 2");
}
}

ETSR, EEAIEBER C:\ > JUNIT_WORKSPACE HglE— java 234 TestRunner.java k1T EFERE
Fo

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(ExecutionProcedureJunit.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}

&M javac ap$FR4miE Test case #1 Test Runner £,
C:\JUNIT_WORKSPACE>javac ExecutionProcedureJunit.java TestRunner.java

WEIE1T Test Runner E=BEmNIZ1TENIE Test Case ARG,
C:\JUNIT_WORKSPACE>java TestRunner

EoAllEs

in before class
in before

in test case 1
in after

in before

in test case 2
in after

in after class

ML ERYEIE, X2 JUnite HiiTidR2:

* beforeClass() HiEELiT, HERNIT—IR,

» afterClass() Biz&EHIT, FERWIT—IX,
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* before() IFEHE—NXBAHT, EREAENTULAHIZAE,
* after() BiEE B TULRAIHNT, EBREERTNIBRMIZE.
* £ before() 73i% after() 7575208, FITE—NUKAH.
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ML AR AIREER JUnitCore 23311789, JUnitCore R1z1TMIHRIIMNIZE ., ©EX3Fz1T JUnit 4 Mhizt, JUnit
3.8.x Wik, HEMIIES . ENGfTIETUEL, ATLUETT java org.junit.runner.JUnitCore » XFRE—
REGUEETT, ATLAERERESSE runClasses(Class[]).

TE= org.junit.runner.JUnitCore ZEHI7RA:

public class JUnitCore extends java.lang.Object
| elg—1ae

« EBZ C:\>JUNIT_WORKSPACE =elZ—MEIKAY Java 2£dap# 9 MessageUtil. java.

/*

* This class prints the given message on console.
*/

public class MessageUtil {

private String message;

//Constructor

/l@param message to be printed

public MessageUtil(String message){
this.message = message;

}

/I prints the message

public String printMessage(){
System.out.printin(message);
return message;

}
}

| eugmiztAsI%

o BlIEE— java MHZEIM Testdunit.java,
o FEERPIIN—MNUK X testPrintMessage()
s TE/% testPrintMessage() FI0NFE @Test.

o SCEUMBXSAFFEA Junit B9 assertEquals API R4,

B3R C:\ > JUNIT_WORKSPACE 82— java 2348529 TestJunit.java



import org.junit. Test;
import static org.junit.Assert.assertEquals;
public class TestJunit {

String message = "Hello World";
MessageUtil messageUtil = new MessageUtil(message);

@Test
public void testPrintMessage() {
assertEquals(message,messageUtil.printMessage());
}
}

I Bll# TestRunner 2

%5 9 & JUnit

ATt | 45

BTk, 1EEAIERZR C:\ > JUNIT_WORKSPACE 8lI#— java Z£3{4as3 8 TestRunner.java REAT

itABI, S& JUnitCore 3B #MA runClasses() /5i%, EMIXZEZRIERLSEL

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}

{# M javac ap$E4miE Test case #1 Test Runner 2%,

C:\JUNIT_WORKSPACE>javac MessageUltil.java TestJunit.java TestRunner.java

WEETT Test Runner E=BaNE1TENXIE Test Case ZEAGNIHAER .

C:\JUNIT_WORKSPACE>java TestRunner
Evalla sl

Hello World
true
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| stz

WHEHERERF L BT AAIFHBE—EHhiTitl. & JUnit 2, @RunWith 1 @Suite [ ERFARIETT
EHNL. XTFEGEERET—IMIF, HPaam i lidiEy] Testdunit! & TestJunit2 28, FAIERN
HEH—iiE T,

BlEE—1 3k

AEBZ C:\ > JUNIT_WORKSPACE #aliZ—MEIIKAY java 2857279 MessageUtil. java

/*

* This class prints the given message on console.
*/

public class MessageUtil {

private String message;

//[Constructor

//@param message to be printed

public MessageUtil(String message){
this.message = message;

}

/[ prints the message

public String printMessage(){
System.out.printin(message);
return message;

}

/[ add "Hi!" to the message
public String salutationMessage(){
message = "Hil" + message;
System.out.printin(message);
return message;
}
}

I Bl Test Case 2

FEEZR C:\ > JUNIT_WORKSPACE glIgE— java iz Testdunitl.java.
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import org.junit. Test;
import org.junit.Ignore;
import static org.junit.Assert.assertEquals;

public class TestJunit1 {

String message = "Robert";
MessageUtil messageUtil = new MessageUtil(message);

@Test

public void testPrintMessage() {
System.out.printin("Inside testPrintMessage()");
assertEquals(message, messageUtil.printMessage());

}
}

FEEZR C:\ > JUNIT_WORKSPACE gl#— java M ZEnf Testdunit2.java.

import org.junit. Test;
import org.junit.Ignore;
import static org.junit.Assert.assertEquals;

public class TestJunit2 {

String message = "Robert";
MessageUtil messageUtil = new MessageUtil(message);

@Test
public void testSalutationMessage() {
System.out.printin("Inside testSalutationMessage()");
message = "Hil" + "Robert";
assertEquals(message,messageUtil.salutationMessage());
}
}

I {$5F3 Test Suite 2

o BIE—java 2,
o TEZEAT E @RunWith(Suite.class) £

+ {#F @Suite.SuiteClasses iF£5 JUnit M0 518

FEEZ C:\ > JUNIT_WORKSPACE 8li— java 340U TestSuite.java AT



import org.junit.runner.RunWith;

import org.junit.runners.Suite;

@RunWith(Suite.class)

@Suite.SuiteClasses({
TestJunitl.class,
TestJunit2.class

H

public class JunitTestSuite {

}

I Bl Test Runner £

FBZ C:\ > JUNIT_WORKSPACE gllf2— java &MU TestRunner.java TN A

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(JunitTestSuite.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}

£/ javac s RIEPTE java £

C\JUNIT_WORKSPACE>javac MessageUtil.java TestJunit1.java

TestJunit2.java JunitTestSuite.java TestRunner.java

WEETT Test Runner, BLz{TFRrBRITEZREI Test Case £ AT A

C:\JUNIT_WORKSPACE>java TestRunner
Evalla Tl

Inside testPrintMessage()
Robert

Inside testSalutationMessage()
Hi Robert

true

%10 & JUnit
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B ARESRERNIIRIDTZE EEFHIER, IXEURSBAIZMIX N T Es ISR IHESIERAK . @Ign
ore JFBRSEXME RATEEEIFA ],

« —&F @Ignore RGBT
« R—NHZES @Ignore i, VeSS EEAEHIT.

WEHRAIABEIFRES @Ignore,
| elg—1ae

« EHZ C:\ > JUNIT_WORKSPACE A al#2— ME#NiiaY java Zds& 8 MessageUtil. java.

/*

* This class prints the given message on console.
*/

public class MessageUtil {

private String message;

//Constructor

/l@param message to be printed

public MessageUtil(String message){
this.message = message;

}

/I prints the message

public String printMessage(){
System.out.printin(message);
return message;

}

/[ add "Hi!" to the message
public String salutationMessage(){
message = "Hi!" + message;
System.out.printin(message);
return message;
}
}



%11 & JUnit

I Bl Test Case 2

o Qg java MiftzEdsE 8 TestJunit.java,
o FEZEAFIINNIRTSIE testPrintMessage() # testSalutationMessage() -

« &7k testPrintMessage() 0 @lgnore ;3%
F£BZ C:\ > JUNIT_WORKSPACE HglE—" java £3X4ap& 8 TestJunit.java

import org.junit.Test;
import org.junit.lgnore;
import static org.junit.Assert.assertEquals;

public class TestJunit {

String message = "Robert";
MessageUtil messageUtil = new MessageUtil(message);

@Ignore

@Test

public void testPrintMessage() {
System.out.printin("Inside testPrintMessage()");
message = "Robert";
assertEquals(message,messageUtil.printMessage());

}

@Test
public void testSalutationMessage() {
System.out.printin("Inside testSalutationMessage()");
message = "Hi!" + "Robert";
assertEquals(message,messageUtil.salutationMessage());
}
}

I Bl Test Runner £

EBZ C:\ > JUNIT_WORKSPACE 8llf2— java FEIUEIUM TestRunner.java 4TI A .

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

2R | 52



public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}

System.out.printin(result.wasSuccessful());
}
}

M javac < 4RIE MessageUtil, Test case #1 Test Runner 2.
C:\JUNIT_WORKSPACE>javac MessageUtil.java TestJunit.java TestRunner.java

WEIETT Test Runner 28, BIAR£IZ{T1E Test Case ZEHEN R testPrintMessage() U= FBAI
C:\JUNIT_WORKSPACE>java TestRunner

ik . testPrintMessage() UL AEIF S BN o

Inside testSalutationMessage()
Hi'Robert
true

WEEFERSF C:\ > JUNIT_WORKSPACE 19 TestJunit fE2£4:5 A @lgnore K2 EREHINLK
il

import org.junit. Test;
import org.junit.Ignore;
import static org.junit.Assert.assertEquals;

@lgnore
public class TestJunit {

String message = "Robert";
MessageUtil messageUtil = new MessageUtil(message);

@Test

public void testPrintMessage() {
System.out.printin("Inside testPrintMessage()");
message = "Robert";
assertEquals(message,messageUtil.printMessage());

}

@Test
public void testSalutationMessage() {



System.out.printin("Inside testSalutationMessage()");
message = "Hi!" + "Robert";
assertEquals(message,messageUtil.salutationMessage());
}
}

#H javac @< 4wiF Test case
C:\JUNIT_WORKSPACE>javac TestJunit.java
{RIFRH Test Runner 42035, #0F:

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}

WEIETT Test Runner BIR&IZ177E Test Case EHEMAMHIT— NS

C:\JUNIT_WORKSPACE>java TestRunner

ik . IRBEUKAHIHINIT .

true

% 11 & JUnit
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Junit B T —MNEEIGEER. NR—NUILBAILLEIEENENHIEE T EZHRTE), B4 Junit BEhE
TR ALY, timeout 2F0 @Test iFHE—EER . WELLF(IBE TR @test(timeout) .

| elg—1ae

» BlIEE—E C:\JUNIT_WORKSPACE =yfft MessageUstil.java B9 java Z£3&Miz .

« £ printMessage() HiERIRII—N LR while &R

/*

* This class prints the given message on console.
*/

public class MessageUtil {

private String message;

//Constructor

/l@param message to be printed

public MessageUtil(String message){
this.message = message;

}

/I prints the message

public void printMessage(){
System.out.printin(message);
while(true);

}

/[ add "Hi!" to the message
public String salutationMessage(){
message = "Hil" + message;
System.out.printin(message);
return message;
}
}

Bl Test Case £

o BIEE—IUM TestJunit.java B9 java MifZE,

%5 testPrintMessage() M AHIZRI0 1000 BYE{=RTIE

7£ C:\JUNIT_WORKSPACE = lZ—{45& 8 TestJunit.java B java 2,



import org.junit. Test;
import org.junit.Ignore;
import static org.junit.Assert.assertEquals;

public class TestJunit {

String message = "Robert";
MessageUtil messageUtil = new MessageUtil(message);

@Test(timeout=1000)

public void testPrintMessage() {
System.out.printin("Inside testPrintMessage()");
messageUltil.printMessage();

}

@Test
public void testSalutationMessage() {
System.out.printin("Inside testSalutationMessage()");
message = "Hil" + "Robert";
assertEquals(message,messageUtil.salutationMessage());
}
}

I Bl# Test Runner £

7£ C:\JUNIT_WORKSPACE = gl#E—{43Z 8 TestRunner.java i java ZERATMXAER)

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}

FH javac %% MessageUtil, Test case #1 Test Runner £,

C:\JUNIT_WORKSPACE>javac MessageUltil.java TestJunit.java TestRunner.java
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WEETT Test Runner, ©5a1THIZMHAY Test Case ZErbFrE X AIMLAEA
C:\JUNIT_WORKSPACE>java TestRunner
ISuksitE o testPrintMessage() i BHNSIRC R Tt % .

Inside testPrintMessage()

Robert

Inside testSalutationMessage()

Hi'Robert

testPrintMessage(TestJunit): test timed out after 1000 milliseconds

false
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Junit BAIBGIERM T — MBS ERNEIR . (Re]LIHABEE et TEEBENSE .. expected SN
@Test ;TB—ieFER. WAELLRNEE T @Test(expected).

| elg—1ae

« £ C:\> JUNIT_WORKSPACE = gl#Z—Mlf MessageUtil.java B9 java Zkilllit

« 7£ printMessage() /5 ERRIN— N a1 .

/*

* This class prints the given message on console.
*/

public class MessageUtil {

private String message;

//Constructor

/l@param message to be printed

public MessageUtil(String message){
this.message = message;

}

/I prints the message

public void printMessage(){
System.out.printin(message);
int a =0;
intb =1/a;

}

/I add "Hi!" to the message
public String salutationMessage(){
message = "Hil" + message;
System.out.printin(message);
return message;
}
}

I Bl Test Case 2£

o BIEE— UM TestJunit.java B9 java MK,

» 5 testPrintMessage() Mt BAIFIIFEEZRIZE ArithmeticException,



£ C:> JUNIT_WORKSPACE #¢li#—1 54824 TestJunit.java BY java 25

import org.junit. Test;
import org.junit.Ignore;
import static org.junit.Assert.assertEquals;

public class TestJunit {

String message = "Robert";
MessageUtil messageUtil = new MessageUtil(message);

@Test(expected = ArithmeticException.class)

public void testPrintMessage() {
System.out.printin("Inside testPrintMessage()");
messageUltil.printMessage();

}

@Test
public void testSalutationMessage() {
System.out.printin("Inside testSalutationMessage()");
message = "Hil" + "Robert";
assertEquals(message,messageUtil.salutationMessage());
}
}

I Bll# TestRunner 2

£ C:> JUNIT_WORKSPACE H e 2—1324E 73 Testdunit.java BY java ZERHUTMIXAA o

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(TestJunit.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}

FH javac %% MessageUtil, Test case #1 Test Runner £,
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C:\JUNIT_WORKSPACE>javac MessageUtil.java TestJunit.java TestRunner.java
WEIE1T Test Runner, B¥Ia1THIEMAY Test Case ZEHATE X AT,
C:\JUNIT_WORKSPACE>java TestRunner
it . testPrintMessage() LKA @I .

Inside testPrintMessage()
Robert

Inside testSalutationMessage()
Hi'Robert

true
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Junit 4 SINT—MENRESHUWNE . SHWNEATFHRARERRRINEREIETE— U, (REER
5 MR EESEHILL .

« A @RunWith(Parameterized.class) 3% test 25,

« BlE—1H @Parameters [FRAIAHAVERSTH L, BIREI—MNIROES(FB)FREANLEIRES .
o BIE—RHANDERY, BESH—ITUHEIEEERNERRA.

o AEIIMHEIRCIE— P EAIEE,

AP E(F RN EIERISERIZIRATUIT RS .

—BE—1THIREIMNERENEHRIER . 13RI ESFRISELNE .
| elg—1ae

* 7 C:\> JUNIT_WORKSPACE sl#Z— M yf PrimeNumberChecker.java 89 java 2kl .

public class PrimeNumberChecker {
public Boolean validate(final Integer primeNumber) {
for (inti=2;i< (primeNumber / 2); i++) {
if (primeNumber % i == 0) {
return false;
}
}
return true;
}
}

Bl Parameterized Test Case 2%

o BIE—UME PrimeNumberCheckerTest.java 89 java 25,
£ C:> JUNIT_WORKSPACE A 8li#E—/"X 438 PrimeNumberCheckerTest.java B java 25,

import java.util. Arrays;
import java.util.Collection;

import org.junit.Test;

import org.junit.Before;

import org.junit.runners.Parameterized;

import org.junit.runners.Parameterized.Parameters;
import org.junit.runner.RunWith;



import static org.junit.Assert.assertEquals;

@RunWith(Parameterized.class)
public class PrimeNumberCheckerTest {
private Integer inputNumber;
private Boolean expectedResult;
private PrimeNumberChecker primeNumberChecker;

@Before
public void initialize() {
primeNumberChecker = new PrimeNumberChecker();

}

/I Each parameter should be placed as an argument here
/[ Every time runner triggers, it will pass the arguments
[/ from parameters we defined in primeNumbers() method
public PrimeNumberCheckerTest(Integer inputNumber,
Boolean expectedResult) {
this.inputNumber = inputNumber;
this.expectedResult = expectedResult;

}

@Parameterized.Parameters
public static Collection primeNumbers() {
return Arrays.asList(new Object[][] {
{2, true },
{6, false },
{19, true },
{22, false },
{23, true }
b;
}

/I This test will run 4 times since we have 5 parameters defined

@Test

public void testPrimeNumberChecker() {
System.out.printin("Parameterized Number is : " + inputNumber);
assertEquals(expectedResult,
primeNumberChecker.validate(inputNumber));

}

}
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I Bl TestRunner 2%

£ C:> JUNIT_WORKSPACE #8liZE—"3 428 TestRunner.java 89 java Z£3k#1 7 B 51

import org.junit.runner.JUnitCore;
import org.junit.runner.Result;
import org.junit.runner.notification.Failure;

public class TestRunner {
public static void main(String[] args) {
Result result = JUnitCore.runClasses(PrimeNumberCheckerTest.class);
for (Failure failure : result.getFailures()) {
System.out.printin(failure.toString());
}
System.out.printin(result.wasSuccessful());
}
}

F8 javac %®i%E PrimeNumberChecker, PrimeNumberCheckerTest #1 TestRunner 2,

CAJUNIT_WORKSPACE>javac PrimeNumberChecker.java PrimeNumberCheckerTest.java
TestRunner.java

WMEIETT TestRunner, Bz{THIEMA Test Case EHATEXAINLBHI
C:\JUNIT_WORKSPACE>java TestRunner
Evall s

Parameterized Number is : 2
Parameterized Number is : 6
Parameterized Number is : 19
Parameterized Number is : 22
Parameterized Number is : 23
true

SHICNIE | 66
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EXANMFR, BAVSERWTER ANT 1217 JUnit. 1EFAIIRMBLA T EE:
I £ 1: 7 Apache Ant

T#; Apache ANT (http://ant.apache.org/bindownload.cgi)

BERE XA

Windows apache—ant-1.8.4—bin.zip
Linux apache—ant-1.8.4—-bin.tar.gz
Mac apache—ant-1.8.4-bin.tar.gz

| 5% 2428 Ant i3

RE ANT_HOME HIEZERISM ANT BREUETEN S PEERIEASAH I . B0, HNELEARRRER
%Y apache—-ant-1.8.4 X4FHFE T ANT REE.

BIERR i

Windows £ C:\Program Files\Apache Software Foundation
\apache-ant-1.8.4 FigEHETSE ANT_HOME

Linux S ANT_HOME=/usr/local\apache—ant-1.8.4

Mac export ANT_HOME=/Library/\apache—ant-1.8.4

BEAN ANT ZRiEsstthit BIRSGIRZE, X T AREARERFRIZIN TR

BERER i

Windows M=% : %ANT_HOME\bin to the end of the
system variable, Path.

Linux EH PATH=$PATH:SANT_HOME/bin/

Mac AR=E

I I8 3: & Junit Archive

& JUnit Archive (https://github.com/downloads/KentBeck/junit/junit-4.10.jar)

BMERS i
Windows junit4.10.jar
Linux junit4.10.jar

Mac junit4.10.jar
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* & C:\ > JUNIT_WORKSPACE #6234 TestJunitWithAnt

e £ C:\> JUNIT_WORKSPACE > TestJunitWithAnt SIS 43 src
e £ C:\ > JUNIT_WORKSPACE > TestJunitWithAnt Al 3243k test
e £ C:\ > JUNIT_WORKSPACE > TestJunitWithAnt F IS4 lib

s £ C:\> JUNIT_WORKSPACE > TestJunitWithAnt >src {42563 MessageUtil £

/*

* This class prints the given message on console.
*/

public class MessageUtil {

private String message;

/[Constructor

//@param message to be printed

public MessageUtil(String message){
this.message = message;

}

/ prints the message

public String printMessage(){
System.out.printin(message);
return message;

}

/l add "Hi!" to the message
public String salutationMessage(){
message = "Hil" + message;
System.out.printin(message);
return message;
}
}

s £ C:\> JUNIT_WORKSPACE > TestJunitWithAnt > src {43 gl TestMessageUtil 25,
import org.junit. Test;

import org.junit.Ignore;
import static org.junit.Assert.assertEquals;



public class TestMessageUtil {

String message = "Robert";
MessageUtil messageUtil = new MessageUtil(message);

@Test

public void testPrintMessage() {
System.out.printin("Inside testPrintMessage()");
assertEquals(message,messageUtil.printMessage());

}

@Test
public void testSalutationMessage() {
System.out.printin("Inside testSalutationMessage()");
message = "Hil" + "Robert";
assertEquals(message,messageUtil.salutationMessage());
}
}

+ & C:\ > JUNIT_WORKSPACE > TestJunitWithAnt > lib 343 E#! junit-4.10.jar.
| &5 ANT Build.xm

BAPEER ANT hAY (ESSRIATTELIRT junit IS .

<project name="JunitTest" default="test" basedir=".">
<property name="testdir" location="test" />
<property name="srcdir" location="src" />
<property name="full-compile" value="true" />
<path id="classpath.base"/>
<path id="classpath.test">
<pathelement location="/lib/junit—4.10.jar" />
<pathelement location="${testdir}" />
<pathelement location="${srcdir}" />
<path refid="classpath.base" />
</path>
<target name="clean" >
<delete verbose="${full-compile}">
<fileset dir="${testdir}" includes="**/*.class" />
</delete>
</target>
<target name="compile" depends="clean">
<javac srcdir="${srcdir}" destdir="${testdir}"
verbose="${full-compile}">



<classpath refid="classpath.test"/>
</javac>
</target>
<target name="test" depends="compile">
<junit>
<classpath refid="classpath.test" />
<formatter type="brief" usefile="false" />
<test name="TestMessageUtil" />
</junit>
</target>
</project>

E1TTFAIRY ant a5
CAJUNIT_WORKSPACE\TestJunitWithAnt>ant

Gt .
Buildfile: C:\JUNIT_WORKSPACE\TestJunitWithAnt\build.xml

clean:

compile:
[javac] Compiling 2 source files to C:\JUNIT_WORKSPACE\TestJunitWithAnt\test
[javac] [parsing started C:\JUNIT_WORKSPACE\TestJunitWithAnt\src\
MessageUtil.javal
[javac] [parsing completed 18ms]
[javac] [parsing started C:\JUNIT_WORKSPACE\TestJunitWithAnt\src\
TestMessageUtil.java]
[javac] [parsing completed 2ms]
[javac] [search path for source files: C:\JUNIT_WORKSPACE\
TestJunitWithAnt\src]
[javac] [loading java\lang\Object.class(java\lang:Object.class)]
[javac] [loading java\lang\String.class(java\lang:String.class)]
[javac] [loading org\junit\Test.class(org\junit: Test.class)]
[javac] [loading org\junit\lgnore.class(org\junit:lgnore.class)]
[javac] [loading org\junit\Assert.class(org\junit:Assert.class)]
[javac] [loading java\lang\annotation\Retention.class
(java\lang\annotation:Retention.class)]
[javac] [loading java\lang\annotation\RetentionPolicy.class
(java\lang\annotation:RetentionPolicy.class)]
[javac] [loading java\lang\annotation\Target.class
(java\lang\annotation: Target.class)]
[javac] [loading java\lang\annotation\ElementType.class
(java\lang\annotation:ElementType.class)]
[javac] [loading java\lang\annotation\Annotation.class
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(java\lang\annotation:Annotation.class)]

[javac] [checking MessageUtil]

[javac] [loading java\lang\System.class(java\lang:System.class)]

[javac] [loading java\io\PrintStream.class(java\io:PrintStream.class)]

[javac] [loading java\io\FilterOutputStream.class
(java\io:FilterOutputStream.class)]

[javac] [loading java\io\OutputStream.class(java\io:OutputStream.class)]

[javac] [loading java\lang\StringBuilder.class

(java\lang:StringBuilder.class)]

[javac] [loading java\lang\AbstractStringBuilder.class
(java\lang:AbstractStringBuilder.class)]

[javac] [loading java\lang\CharSequence.class(java\lang:CharSequence.class)]
[javac] [loading java\io\Serializable.class(java\io:Serializable.class)]

[javac] [loading java\lang\Comparable.class(java\lang:Comparable.class)]

[javac] [loading java\lang\StringBuffer.class(java\lang:StringBuffer.class)]

[javac] [wrote C:\JUNIT_WORKSPACE\TestJunitWithAnt\test\MessageUstil.class]
[javac] [checking TestMessageUtil]

[javac] [wrote C:\JUNIT_WORKSPACE\TestJunitWithAnt\test\TestMessageUtil.class]
[javac] [total 281ms]

test:
[junit] Testsuite: TestMessageUTtil
[Junlt Tests run: 2, Failures: 0, Errors: 0, Time elapsed: 0.008 sec

= =
c C
S5 S
=p =k

]

]

it]

il| === Standard Output ——————————————
[junit] Inside testPrintMessage()

[junit] Robert

[junit] Inside testSalutationMessage()

[junit] Hi'Robert

junit] -————-—--—-——————>"+"717"7-1="—""—"—"""-—""""""""""""-—
BUILD SUCCESSFUL

Total time: 0 seconds
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HNTIRES A eclipse B9 JUnit, BEBEBLUTEEE,

I F1: & Junit archive

T#; JUnit (https://github.com/downloads/KentBeck/junit/junit-4.10.jar)

% 16 = JUnit — Eclipse &4 | 74

BERE XA

Windows junit4.10.jar
Linux junit4.10.jar
Mac junit4.10.jar

BRIRIRE C:>JUnit IKHRFEH TLALE JAR 3.

I IR 2: %E Eclipse th &

* $TFF eclipse —> A project 7 s property > Build Path > Configure Build Path, #AE{ER Add Ex
ternal Jar ¥HERE A0 junit-4.10.jar.

& Properties for Testlunit = [

type filter tet Java Build Path AN D
Rescurce - - T
Beanlnfa Path (% Source | =5 Projects | B Libraries | % Order and Export|
Builders JARs and class folders on the build path:
i o junit-4.10 jor - CLUUNIT [ Addsms. |
Google . B JRE System Library [jdidl 5.0_21] ! el el :
HTHL Code Formatter | Add External JARS... |
Java Build Path :
Jeva Code Style [ Addvansble. |
:’“ EEI:I.mFIIEr [ Add Library... ]

ava Editor
lavado: Locetion | Add Class Folder.,. |
15 Code Formatter
PMD | Add External Class Folder...|
Project Matures
Project References | Edit... |
Run/Tebug Settings
Server | Bemave |
Task Repository .
Task Tags Migrete JAR File,.,
Tomcat
Validation
ANL Code Formatter
@ [ ok [ canen

E kR 16.1image
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o HNMBRIRIRAY eclipse BEELAET junit ild4FFEETE C:>eclipse/plugins BRT, WIABEIRE, BBAMRRAT
LAM JUnit Plugin (http://sourceforge.net/projects/e—junitdoclet/files/latest/download) L&, £ ec
lipse ARSI IE T EAY zip X4 . &RIEES eclipse,

WEIREY eclipse EEHERYF JUnit MiXBAIIFA T -
I $£18 3: #%SL Eclipse FH9 Junit 22

» 7£ eclipse FYHEE L BIgE— TestJunit TRE .

« BJE— MessageUtil ZERETE Filliz

/*

* This class prints the given message on console.
*/

public class MessageUtil {

private String message;

/[Constructor

/l@param message to be printed

public MessageUtil(String message){
this.message = message;

}

/ prints the message
public String printMessage(){
System.out.printin(message);
return message;
}
}

o EIMETEIE— test 2& TestJunit

import org.junit.Test;
import static org.junit.Assert.assertEquals;

public class TestJunit {

String message = "Hello World";
MessageUtil messageUtil = new MessageUtil(message);

@Test
public void testPrintMessage() {



assertEquals(message,messageUtil.printMessage());

THRRBEW
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1: Hierarchy |

| a & Testiunit
4 (& gre
a F (default package)
b 1] Messagelltiljava
o |[1] Testunttjaval
v B JRE Systern Library [jdid 6.0 _21]
4 @4 Referenced Libraries
bl junit-4.30.ar - CUUMET

B & 16.2 image

&, BIIAEERFM run as junit BIFEFRIEHE .

=0 1] Messagelitiljava

g EIEE|

public glass TeatJunit {

Scring message = "Hello World™:

[ @) Testunitjava 22 2
Simport org.junic.Test;
import static org.junit.haserc.assertEguals;:

Messageleil messageleil = new MassageUtil (messsgs);

ATe=c

publia void ceatPrincMessage()

aggertEquals (message, mezzagelcil . printessage () ;

}
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ackage T Hierarchy| =" B
ER|le~

T consureBankins

MrE& OPL HEHR H-0-Q- 4 LEHE- [ (v | 72 Java
e@#v j"‘ j ;1- - &v*v'_’_’:r _:T 'I"_I v‘p{;‘_lv T
’ =)

:’|1'| Messageltijova | (1] Testhunitjova 72
“1Eport org.Jjunit.Testc’
import static org.junic.fssert.asssrtEquals;

LT preject
4 1= Testlunidt
FRE_ N3
a B (defaultp

@ Referenced L

B H 16.3 image

JGIFEER

4
¥

x5 F

EE

n@an

Mew

{ipen
Open With

Open Type Hieraschy
Show In

Copy
Copy Qualified Name
Paste
Delete

Rempve from Combedt
Build Path

Source

Refactor

Impost...
References
Declarations

Find Bugs

Refresh

Assign Warking Ses_
Run As

Debug 4

Profile 4

Validate

Command Line Shell

Explore Files
Copy pathiz] to cliphoard

Cempare against Choud vermion..

Teamn

Campare With

Replace With

Restare from Lacal Histarg...
‘Web Services

Synchronize

D

Properties

"

E
k

F4
AltsShift= 14 ¢

ChileC

Carl=W
Delete

Ctrl+ At Shift+ Down
k
A= Shift+5 »
Alts ShifrT ¥

hl p 1 Runon Senver

ki

F

Ali+Erder

A"y
w Hessageltil (message) 7

[
ageloil.princHessages [} );

BlteShifte¥, R
Ju - Z Ainat Test Alt+Shift+i T

Pun Cunﬁ_gm:l:'nm..

4|

v otRE| B = Er

S —
@

| = Fallure Trace
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i GPL #HEH H-0-Q- 4 BB Er &S

(e SR T SR I R R

i paciage 55y ercy| 1| 1 Messsgeeimv | [) Tt
=] h| = Simport org.junit,Te=st;
S import atatic oxg.junit Asserc.asssrcigquals;

public class Tescdunic I

String message = "Hellp World"j
Mesaagelcil messageleil = jpaw Hessageloil (mesfage):

B4 Referenced Libraries L
paoblia woid tastFrintMes=ags() 4

assertEquals(maasage, seasagelril printieasage ||)
1
¥

{[£ Probhems | @ lvsdoc |12 Dactaration | B Conscle \gfo Unit 53 -
‘Finished alter DOLE secondy

Inun':m o Errea O o Failures: 0

2P T e — e TR

B R 16.4 image
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LAITRZ JUnit 7 &

e Cactus
o JWebUnit
e XMLUnit

* MockObiject
I Cactus

Cactus 22— MEREZRAFRNIXIRS2EIRAY Java 1£3 ( Serviets, EJBs, Tag Libs, Filters ) . Cactus HJi&
ITRERARA/NARSRIRCIEEMNEGRIRA . ©FER JUnit HFETELLEM E#HT E. Cactus LT i
n—container BIZERE, BRE R LATESsSWERHATIINL o

Cactus EGERHLU T L ERDER :

e Cactus Framework ( Cactus 128 ) £ Cactus B9y, BE2RH API 5 Cactus UiKARBAIS5EE .,

* Cactus Integration Modules ( Cactus &ERERR ) BRIEMER Cactus Framework ( Ant scripts, Ecl

ipse plugin, Maven plugin ) ABIBTIHFIFESS
X2 cactus ROREFULES .

import org.apache.cactus.”;
import junit.framework.*;

public class TestSampleServlet extends ServletTestCase {
@Test
public void testServlet() {
/I Initialize class to test
SampleServlet servlet = new SampleServiet();

// Set a variable in session as the doSomething()
/I method that we are testing

n"on

session.setAttribute("name", "value");

// Call the method to test, passing an
// HttpServiletRequest object (for example)
String result = servlet.doSomething(request);

/[ Perform verification that test was successful
assertEquals("something", result);
assertEquals("otherValue", session.getAttribute("otherName"));
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| ywebunit

JWebUnit 2—1METF Java FIBETF web MABRIEHESR, BUA—g—. BERMSZEONAEEE T Himl
Unit #0 Selenium 1XLEELFEAIEZLS R SO RIRIERENN web R FEFZFRIEMRME .

JWebUnit 12t 7 —FS%K5IRY Java AP| FsRAMEES T — RN F IEFMERIETSAI web NAREF . X8
EEITEE, RPESHIESR, RIEATRIIERMER web N A FEERISSIHE

XAME BRSNS AR AT AT S S IF L E ZRYRENIRN A R(NER JUnit #0 HtimIUnit, 5MOSRIR
B HtmIUnit YIRZIE RS, F1a0 Selenium(IRIRBILAER), BBATAESRAGINIHEGIE

AT 2R

import junit.framework.TestCase;
import net.sourceforge.jwebunit.WebTester;

public class ExampleWebTestCase extends TestCase {
private WebTester tester;

public ExampleWebTestCase(String name) {
super(name);
tester = new WebTester();

}

//set base url

public void setUp() throws Exception {
getTestContext().setBaseUrl("http://myserver:8080/myapp");

}

/ test base info

@Test

public void testinfoPage() {
beginAt("/info.html");

}

}

XMLUnit

XMLUnit #\2ft 7 —NE—RY JUnit T E2E, Bl XMLTestCase, ME—LERIFSHISTIFES:

o HEFN XML XEHRIARE (@idfER Diff #1 DetailedDiff 28 )



o — XML HHIIGIE (@33R Validator 2£)

* {6 XSLT #i— XML XHRIER (@I &R Transform 2£)

B
o X— XML X4 XPath XA (BIZsLW XpathEngine #0 )

o — N XML X{43#47 DOM Traversal f[589h7455 (@idEHB NodeTest £ )

BRKER NN VEZLLBAIMS S1ER XML 324, FNTUS— M0 TFRIESRNEE:

import org.custommonkey.xmlunit. XML TestCase;
public class MyXML TestCase extends XML TestCase {

/[ this test method compare two pieces of the XML

@Test

public void testForXMLEgquality() throws Exception {
String myControlXML = "<msg><uuid>0x00435A8C</uuid></msg>";
String myTestXML = "<msg><localld>2376</localld></msg>";
assertXMLEqual("Comparing test xml to control xml",
myControlXML, myTestXML);

}

}

I MockObject

E—remilide, EMNRALUEMEZRY, B8 (IEENL) MRYTH, EES—NELNRAISLEHA

A EH— T BTUXAIIRIFEE R,
FREIAXI S TR A — AR AV RIE XIS B 1

o BIEEMTIRAILA

s RIS PIRERSHER

s EEEMNREREIEEASH
o EEMMNRAIE—EE

AR 2FER Jmock B9 MockObject 1+,

import org.jmock.Mockery;
import org.jmock.Expectations;

class PubTest extends TestCase {
Mockery context = new Mockery();

17 E JUnit — 1B R

82



public void testSubReceivesMessage() {
/l set up
final Sub sub = context.mock(Sub.class);

Pub pub = new Pub();
pub.add(sub);

final String message = "message";

/] expectations
context.checking(new Expectations() {
oneOf (sub).receive(message);

D;

/I execute
pub.publish(message);

/] verify
context.assertlsSatisfied();

%17 & JUnit

eSS/

83
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http://wiki.jikexueyuan.com/project/junit/
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